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Complete the proof by filling in the spaces. Note, the full statement
of the postulate/Theorem must be given.

In the figure to the he right, E is the midpoint of 4B and CD. If 4B=CD, p C
then prove AE = ED. :
f B
Statements Reasons b o
1.E is the midpoint of 4Band D | Given

l.b AR = (D

2. AE = EB and CE = ED

def of 0D

3. AE+ER =R
CErEDeCD

Segment Addition Postulate

4. AE+ EB=CE + ED

Lupshtuihien

S. RE+RE = &5 +eD

Substitution

6. 2AE =2ED . .

S wbs T Tuhon
7. AE = ED DS OV
> HE =D

det. of & seoment's
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